)

1,80 m

Y

0,63 m

|<—>‘

[ofoJofoYo]ao
'\

f- Varje vecka
- = Evi week
0- Jegeraywoiie
hQ@ Chaque semaine
Varje sdasong
Every season
Jedes Jahr_
NR. [Description MA Item Number Qty Chaque saison
1 1645 x 590 x 70 mm 8037219/8037212| 2
2 |1216 x 56 mm 8037177/8037254 | 1 I I Q ( : S 33456?%;3?35“”
3 |Nut, ISO7042-M12-8 8042811 2 X vw-hags.com
4 |MVBF M12x60 mm 8037113 o || Table maintenance
5 |1800 x 634 x 80 mm 8064225/8064226 | 1 MASW5961 3
6 |Nut, 1SO7042-M10-8 8042810 4 || 1(1)
7 |M6S M10x60 mm 8008383 4 HB |S®>[TP |2017-04-25 [0




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Detail View A (1 : 4)
	Drawing View5
	Detail View B (1 : 4)
	Drawing View7


